gboogoob200400000

P13b Ooodddgoobooodgdgogn
o00 00000 00O (00000 /000)000 00 (@00000)

0O0000000000000000000000000000000000000000000000000
00000000 2000000000000000000000000000000000200300000
000000000000 00000000000000000000000000000 «00000 nO 1
000 0a?n0 o0 an 00000000000000000000000000000000 00O
0000000 q= My/Mig0ODO ¢ 000000000
0000000000000000000000000000000000000000 jinr = 1.9, ¢ = 0.60
s =025000 e=030000 (model 1) 0000000000000 ~3200000000000 (O
00000 15000)000000000000000000 Lagrange point L, 0000000000000
000000000000 000000000000000000 Lagrange Ly point 00000000000
0000000000000000 f-000000000000000000000 -0 |f 050000
L, point 00 0000000000000 0O00O00O00DO0DO000O00DONDONDO0DOON0OONooooonon
000000000000 00000000000000000000000000000000000000
0000000000000000000000000000000000000000000 jins0q, ¢s O
0000000000000 00000000000000000000000000000000000 500
000000000000000000000000000000000000000000000000000



